R#ETFAN XFA RKAEHE o1

1. {}ohzERALTHEZE X (S22, A3, B0, CHfk1520/)

1) 52 {x=4} 2 -z {x=-3} (3) —dx {x=8}
4 5-2 {z=-5} (6) L {o=12} (6) IE3 {a—9}
(1) 42+3 {x=5} (8) 10-6x {z=4} 9 1-92 {z=-3}
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2.

(1)

(4)

(7)

{} ohzfRALGHHEZE L. (S5, A35®, B#50F, C#H14520% )

Tx {x=3}
l—2z {z=-1}
de+7 {z=3}

2 -z {x=-6} 3) -7x {z=8}
(5) % {z=12} (6) z;9 {z=1}
(8) 11-5z {z=3} 9 1-8 {z=-4}
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R#ETFAN XFA RKAEHE o1

SR

{}yohzRALGIHEZE L. (S22, A35®, B#50®, C#H145208)

(1) 5z {z=4}

=5Hx4

=20

(1) 4z+3 {z=5}

=5x4+3

=23

(2) —x

FEDOBIE () ZOFTRA

(8) 10-6z {z=4}

=10—-6x4
=10—-24

=—-14
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(3)

(9)

—4x {z=8}

=—4x8

=—32

4
—_9+3
4
=3
1-92 {z=-3}
=1-9x(-3)
=1427
=28
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2.

{} ohzfRALGHHEZE L. (S5, A35®, B#50F, C#H14520% )

1 7 {zx=3}

=7%x3

=21

(4) 1—=z

(1) 4a+7 {x2=3}

=4x3+7

=19

(2) —x

KEDEIE () ZOUTRA

-4
12
_1
3
®) 11-5x {x=
=11-5x3
=11-15
— 4

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )

3}

(3)

(9)

7 {xz=8}

=-7Tx8

— —56

4
_1-9
4
-2
1-8 {x=-4}
=1-8x(-4)
=1+32
=33
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